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QID : 201 - In the following question, select the related word from the given alternatives.
Chicken:Hen::?:?

frafafEa vy § Ry 7y faredt 3 @ wefda < ot gHgl
quf:qff::2:2

Options:

1) Horse : Mare

orer : Tt

2) Rabbit : Goose

TN qAE

3) Bull : Doe

& ; fazoft

4) Boar : Foal

[ : TS I TSI

Correct Answer: Horse : Mare

ST et

Candidate Answer: Horse : Mare

QID : 202 - In the following question, select the related word from the given alternatives.

Mason : Plumb line::?:?
frafafed wer 8 Ry g e & & T&fa e &t gl

TS Aga g i ?:?
Options:

1) Surgeon : Scalpel

R - gRem

2) Sculptor : Spade

3) Blacksmith : Forcep
dER : Rmer

4) Gardener : Saw
ST @ SRT

Correct Answer: Surgeon : Scalpel
B :

Candidate Answer: Surgeon : Scalpel
B :

QID : 203 - In the following question, select the related letters from the given alternatives.

BKPG : DNRJ : : CMOG : ?
Frafaf@a wer & g g feredt 7 @ deifaa srart @l gfw)

BKPG : DNRJ: : CMOG : ?

Options:
1) Doql

2) EPQJ
3) EQPJ

4) EQJP
Correct Answer: EPQJ
Candidate Answer: EPQJ
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QID : 204 - In the following question, select the related letters from the given alternatives.
DHPQ:ZDLM:: SWIY:?
FefafEa uy 8 Ry g faehedt & € Hefa s1eri st gl

DHPQ:ZDLM:: SWIY:?

Options:
1) OSEU

2) OSUE
3) OESU

4) OTDV
Correct Answer: OSEU
Candidate Answer: OSEU

QID : 205 - In the following question, select the related number from the given alternatives.
256:290::961:?
frafafea v & Ry 1y foredt & § wefda w9 & gfg

256:290::961:?
Options:
1) 1011
2) 1017
3) 1025
4)1023

Correct Answer: 1025
Candidate Answer: 1025

QID : 206 - In the following question, select the related number from the given alternatives.
14:194::16:?

frfafea v & Ry 1y faedt & § wefda v & gfg

14:194::16:?

Options:
1) 254

2) 256
3) 258

4) 260
Correct Answer: 254
Candidate Answer: 254

QID : 207 - In the following question, select the odd word from the given alternatives.
fafafea vy 7 Ry 7y et & @ v 2reg ot 9wl

Options:

1) Farmer

foram

2) Blacksmith

3) Cobbler

At

4) Helper
SHEEY

Correct Answer: Helper
g

Candidate Answer: Helper
SEEED

QID : 208 - In the following question, select the odd word pair from the given alternatives.

FfafEa w8 e 77g faeredt 7 & foww <reg g &t gg)



Options:

1) Mumbai : President's House
s« Tgufe a=

2) Delhi : Parliament

et : dog

3) Nagpur : Centre Point

AR : e foreg

4) Hyderabad : Charminar
ERIETE ; TRHIAR

Correct Answer: Mumbai : President's House

g : Igafa wae

Candidate Answer: Mumbai : President's House
: T

QID : 209 - In the following question, select the odd letters from the given alternatives.

FrfafEa us Ry 71g faeredt & € fawm sreri &t gi-g)

Options:
1) AZ

2) MN
3)1S

4) GT
Correct Answer: IS
Candidate Answer: IS

QID : 210 - In the following question, select the odd letters from the given alternatives.

feafafea vy § R g faered § € fawm sreri ot gfg)

Options:
1) LNPR

2) HJLN
3) SUVX

4) BDFH
Correct Answer: SUVX
Candidate Answer: SUVX

QID : 211 - In the following question, select the odd number pair from the given alternatives.

fafafea vy 7 Ry g faeedt & @ fovm g g ot gl

Options:
18

2) 27
3) 49

4)216
Correct Answer: 49
Candidate Answer: 49

QID : 212 - In the following question, select the odd number pair from the given alternatives.

frfafea ue & Ry mg foeredt & § fowm T gw at gkl
Options:
1) 123 - 321

2) 456 - 654
3)789 - 978

4) 678 — 876
Correct Answer: 789 — 978
Candidate Answer: 789 — 978



QID : 213 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Clone
2. Climate
3. Clutter
4. Create
5. Clapped

frfefaa el &t areaentsr & 11 aTel o & SIER ford|

1. Clone
2. Climate
3. Clutter
4. Create
5. Clapped

Options:
1) 52143

2) 51234
3) 52134

4) 53124

Correct Answer: 52134

Candidate Answer: 52134

QID : 214 - Arrange the given words in the sequence in which they occur in the dictionary.
1. Lasted

2. Loop

3. Lake

4. Litter
5. Listed

frfafer areal T Areaehiar # o1 aTet 3 & SR ford |
1. Lasted

2. Loop

3. Lake

4. Litter
5. Listed

Options:
1) 31542
2) 31254
3) 31245

4) 31452
Correct Answer: 31542
Candidate Answer: 31542

QID : 215 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
B,D,H,N,?

o rehH foam mar 8, O € ueh ug g &1 iy e fenedt & @ a8 9@} fRereu g, it srgehd Bt R

B,D,H,N,?

Options:

nT

2)U

3)V

AR
Correct Answer: V
Candidate Answer: V

QID : 216 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
AAA, BCD, CEG, ?
Teh STgeRH foar T 8, T @ o Ue g 81 ey g Rrenedl A & a5 I8t fashed gfAg, STt Srgshn @l i Rl

AAA, BCD, CEG, ?



Options:
1) DGl

2) DFI

3) DGJ

4) DJG

Correct Answer: DGJ

Candidate Answer: DGJ

QID : 217 - In the following question, select the missing number from the given series.
127, 63,31,15,7,?

fafafea vy 7 Ry 7 el & @ g sfe 1a Hifsg

127,63,31,15,7,?

Options:
1)2

2)3

3)4

4)5

Correct Answer: 3

Candidate Answer: 3

QID : 218 - In the following question, select the missing number from the given series.
2,22,198, 1386, ?

FfafEa vy 8§ Ry 7 et & @ g ofe 31a Siforg|

2,22,198,1386,?

Options:
1) 2770

2) 3990
3) 6930

4) 9702
Correct Answer: 6930
Candidate Answer: 6930

QID : 219 - A is taller than B. C is taller than D, but shorter than E. B is shorter than D and D is taller than A. Who is the tallest?

ABITETEIC, DA T WJET BT g1 B, D BleT & a1 D, A T Il & | TG I i 87
Options:

1)E

2)C

3)B

4D
Correct Answer: E
Candidate Answer: E

QID: 220 - If'A + B' means ‘A is father of B','A — B' means 'A is mother of B, 'A * B' means ‘A is brother of B' and 'A % B' means 'A is sister of B', then how is Q related
toSin'P+Q*R—-S7?

' A+B AINF'A BHUATE,'A - B wT3F'A,BRAAIE, A*B' A Af'A BRI NEE AMA%B wAFABRTEAE &, A'P+Q*R— S #HQ, ST 5y yerR Taifda &2
Options:

1) Husband

qfd

2) Uncle
HTHT

3) Brother
I

4) Father
e

Correct Answer: Uncle
AT

Candidate Answer: Brother



QID : 221 - P is shorter than Q but taller than T. R is the tallest and S is shorter than P but not the shortest. Who is second last in the descending order of height?

PQUBIE R T8 T &I R Ga9 a1 8 JUT S, P & BieT & W I BIeT 781 81 HaTs & ed §Y v § ifad I q@Rr & 87

Options:
NP

2)Q

3)s

HT1

Correct Answer: S

Candidate Answer: S

QID : 222 - In the following question, select the word which cannot be formed using the letters of the given word.
QUALIFICATION

frafafEa el d @ g e g St X g rea & S1eRT o1 TRIRT ek 81 ST 1T FehdT|
QUALIFICATION

Options:

1) LIAR

2) FIAT

3) LION

4) FICTION

Correct Answer: LIAR

Candidate Answer: LIAR

QID : 223 - In the following question, select the word which cannot be formed using the letters of the given word.
POSSESSION

frafafed el & & ag wrea gMAg St g 1Y 2rea & S1&RT a1 TRINT hech T8 ST ST SehdT|

POSSESSION

Options:
1) SESSION

2) POSE
3) POISE

4) OBSESS
Correct Answer: OBSESS
Candidate Answer: OBSESS

QID : 224 - In a certain code language, "RANGE" is written as "FIQEW" and "ARAGE" is written as "FIDVF". How is "PRANK" written in that code language?

U fAfe Fis wror & "RANGE" &l "FIQEW" forar STTdT & 9T "ARAGE" &l "FIDVF" forar STaT &1 39 ohts uoT § "PRANK" &t fohg WrepR forar sirgem?

Options:
1) MQEWV

2) LPDVU
3) UVDPL

4) VWEQM
Correct Answer: LPDVU
Candidate Answer: LPDVU

QID : 225 - In a certain code language, "HAUNTED" is written as "4013592" and "RINGED" is written as "763892". How is "HINGE" written in that code language?

e fAfre i o #, "HAUNTED" &1 "4013592" foram ST & 9T "RINGED" @t "763892" forar SiTdT 81 39 ahts HToT & "HINGE" @t fahdt UehR fora smaamm?

Options:
1) 36589

2) 57864
3) 40359

4) 46389
Correct Answer: 46389
Candidate Answer: 46389



QID : 226 - If "P" denotes "divided by", "R" denotes "added to","S" denotes "subtracted from" and "Q" denotes "multiplied by", then
48P4R3Q4S6Q4=?
qﬁ nPn EF[ G{Qaf u(q.l_r[u %' uRn EF[ G{Qaf uﬁg.n %‘ nSu EF[ GTQf nwu % a?‘" HQH EF[ G{Qaf HIIUT[” %’ Fﬂ,

48P4R3Q4S6Q4=?
Options:

1) 20

2)1

3)6

40

Correct Answer: 0
Candidate Answer: 0

QID : 227 - In the following question, correct the equation by interchanging two numbers.
9x3-8+2+7=26
frfafed usr §, o) &) Geemsil ) smug # IRER secens oy 7y gfieor @t gel Hifsigl

9x3-8+2+7=26
Options:

1)3and7

3qu7

2)9and2

9 dur 2

3)7and9

7d919

4)3and8

3qur8

Correct Answer: 7 and 9
7da19

Candidate Answer: 7 and 9
7da19

QID:228-1f90811a2=40and13612a3=75then400841a5=?

gt 9811a2=40a2713012a3 =758, 340041 a5="?
Options:

1) 340

2) 365

3) 320

4) 405

Correct Answer: 405

Candidate Answer: 405

QID:229-1f8a 48,12 a 120 and 15 a 195, then what is the value of 'A'in 19 a A?

afd8a48,12a120 a1 15 a 195 g, dt 19 a A H, 'A' I AF &1 ghTT?
Options:

1) 323

2) 347

3) 360

4)312

Correct Answer: 323

Candidate Answer: 323



QID : 230 -

In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

oot e # 5r or fomeut & & uy e
(?) & FUS G H grel FEAT H AT

7 8 2
2 <) 3
< 1 7
5 6 ?

Options:

N1

2)2

3)4

4)6

Correct Answer: 6
Candidate Answer: 6

QID : 231 -

In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

oo uw # Gy o7 fomeut & @ ua e
(?) & FTUR 9T HA gl FEAT FH AT

11 2 4 98

3 6 5 100
8 9 1 ?
Options:
172
2)75
3)88
4) 82

Correct Answer: 82
Candidate Answer: 82



QID : 232 -

How many quadrilaterals are there in the given
figure?

& gy # e TgEe &

\ P

oy
p=

Options:
113

2)15
3)17

419
Correct Answer: 17
Candidate Answer: 13

QID : 233 -

How many rectangles are there in the given figure?

& T e F fraa amua ¥

Options:
115

2)17
3)19

4) 23
Correct Answer: 15
Candidate Answer: [ NOT ANSWERED ]



QID : 234 - In each of the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they
seem to be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
I. All pens are cups.
II. All glasses are cups.

Conclusions:

I. Some pens are glass.

Il. Some glasses are cups.
Ill. Some glasses are pens.

2 R g v U § o e 3R 3% 18 39 Yl WR sneTRa g s g g €, greifes S W Ara et @ e gt wendt 81wt e ug ok fte FreiRa e s Ry
g &iF § feend, g 7Tq et & SmeR W gfned 81

<hY-:
| gft T Hu gl
I1. goft 7y U B

fArsn:

|. T O T B

Il. & T FU &

Il. & 79 O &

Options:

1) Only conclusion (I) and (Ill) follow
Shaet st (1) o fsend (111) Tet &
2) Only conclusion (1) follows
et fAwny (1) Tet @

3) Only conclusion (11) follows
haet freeny (I1) T8t &

4) No conclusion follows

Correct Answer: Only conclusion (11) follows

Shaet fsend (1) gt &

Candidate Answer: Only conclusion (Il) follows

Shaet fsend (1) T8t &

QID : 235 - In each of the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they
seem to be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:

I. No pens are pencils.

Il. No eraser is cup.

IIl. All pencils are erasers.

Conclusions:

|. Some pens are not erasers.
Il. Some erasers are not pens.
IIl. No pencil is cup.

IV. Some erasers are cups.

I Rw 7T vdes U H $© U 3R I a1 I Sl W TR $© e fag g &, gretifon 3 g 71a aet @ fa=ar gt gohdt 81 et s ud ofik i fRufRa o6 ok e
MY &t & feend, T 71Q el & YR W gRAGT &1

<hYd:

|. i3 O U gt €1
Il. S ™R BT A5 6
1. goft ol TR 8

e

|. & T TR T 8

Il. & R o 781 &

I11. s ey =1 &1

IV. B TR FHT &

Options:

1) Only conclusion (I) and (IV) follow
haet fsepd (1) a2 st (IV) Tt &

2) Only conclusion (1) and (111 follow
Shaet st (1) o fsend (111) T8t &

3) Only conclusion (11) and (I11) follow
haet fsend (I1) e fAsme (111) T8t €

4) Only conclusion (11) and (1V) follow
Shaet fsend (11) @ fAsee (1IV) T8t €
Correct Answer: Only conclusion (I1) and (lIl) follow

Shaet fsend (11) e s (111) Tt €
Candidate Answer: [ NOT ANSWERED |



QID : 236 -

From the given options, which answer figure can be
formed by folding the figure given in the question?

e fawmeat & @ @lg @ 397 3l wy
F &1 T2 FES B AERT TS T AT 87

i,

Options:
1)
r/ .. 3

e

Correct Answer:
H/ .l 3

Candidate Answer:
d/ .. .




QID : 237 -

Two position of a cube are shown below. What will
come opposite to face containing ‘&'?

@ T g B ar HaTuT ST W €& IF
Tolch & Tauiyd AT HTUIM?

Options:
1A

2) %

3)$

4) None of these

d 4 1S el

Correct Answer: *

Candidate Answer: None of these

T A g 7
QID : 238 -

In the given figure, which number represents plastic
tables which are wooden?

& W # FiF w e N wnfes A
St TS €, P RMTET &7

Wooden/ A

/ b3 T Th
TS / 1/5<\:’ o \ Table/

yoaN R
Q3[\4 =

Plastic/ 8 el
AT Eesh g —

Options:
1)3

2)5
3)7

44
Correct Answer: 4
Candidate Answer: 4



QID: 239 -
In the given figure, which number represents brown
animals which do not have tail?

& o Al A, FlF W e 1 I AR
et do &6 € @ g &7

Ammal&‘f ?(\\ 2 \L‘ Tailks
Pl \ 5&(6 \ /

\ T Brown/

\_ 3 /4—

Options:
N7

2)4
3)5

4) 6
Correct Answer: 5
Candidate Answer: 5

QID: 240 -

In the given figure, which number represents the
paint brush which is not hair?

& M e A BT & HF T FE g FU A
I a9 €, @ gAET &7

' 1 ' R <4— Paint/Tar
4"
i \ ) +— Hair/arel
7
Options:
14
2)3
3)5
42

Correct Answer: 2
Candidate Answer: 2



QID : 241 -

Which answer figure will complete the pattern in the
question figure?

Al ® 3R HPA oF Hgla & ufdwa & qu
HMN?

I'r\'\
e

*~J

Options:
1)

Correct Answer:

&

Candidate Answer:

N




QID: 242 -
Which answer figure will complete the pattern in the
guestion figure?

Fle " IR AFA TF FFia & IasT F qx
an?

i

YV

Options:

1)

Correct Answer:

N\

Candidate Answer:

N\




QID : 243 -

From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 7% IR HPaaT # ¥ 3¥ W Hgd B gaw
o & vy 3pfa BT &

3

Options:
1)
2
3)
/\
4)
\/
/\

Correct Answer:

Candidate Answer:




QID : 244 -

From the given answer figures, select the one in
which the question figure is hidden/embedded.

&1 9% 3 HPiadr H ¥ 3¥@ W AP B gaw
om & uy 3gpld BT &

9,

Options:

1)

A B E

Correct Answe

by

il

Candidate Answer:

il




QID: 245 -
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

# & oy g # REm 3gar Fee
Az Bed JUT Gied & 95 g8 g K HTea
s s geme

)4 |4

Options:
1)

LT L)

28 o9

-1-]

Correct Answer:

LT L)

O o0

Candidate Answer:

LT L)




QID : 246 -

A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

o & Uy FEfad # R HgER FE &
HAIZRT T AT Widel & g 9€ foFE 39X Ao
ST femrs game

B3 <:>
%

Options:
1)

N
-

S
=

] EJ O

Correct Answer:

%K

Candidate Answer:

x




QID : 247 -

If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

Ify T TUUT @ AB Y@ W @ ST, at & T
TR AFAAr A B Fid W Fpla Wy dea Hir
e ufafers arfr?

|
Ak B
Options:
1)
[ |
2)
|
3)
O
4)
O
Correct Answer:
O
Candidate Answer:
O




QID : 248 -

If a mirrer is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

fE U TUUT @ AB YT W @ S, Gt & T
TR Hgpaar # T wlT @ gl vy el H
e ufafess gefre

"

m

Options:

1)

N

>

Correct Answer:

K

Candidate Answer:

K




QiD : 249 -

A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘L’ can
be represented by 11, 42, etc_, and ‘A’ can be represented by 65, 96, etc.
Similarly, you have to identify the set for the word “FISH”.

Ueh RUeg hdd Udh TEAT-HIE GRI oRiar [ §, Jtar & fwedl # 4
Rt wer A G mar {1 Aeedl A Bu v dwarad HeRT & gr g9t
gRT GRiT a1 §, Star 6 U a1w of 3neyel & 1 3neyel & TaEw 3R
Ufth T T 0 T 4§ 3R Iegel T 53 91 =9 JcYE T TP HEW D
Ugel 308 Uhh 3R aig & TaFy dwar gRT AR ST A6l ©1 SGIel
& T L @ 11, 42, 307G SRT GT S dddr & dur ‘A7 @I 65, 96,
MG gRT goifar o @har ¥ 3d RE @ U ud # BT eeg FISH
F fow @oE A g R

Matrix-I Matrix-ll

gl g
01234 516|789
O(P|I1|Y|F|L 5 HIS|E|A|P
1 FILIP|I]Y 6  A[P|H|S|E
20 | XEAE |k | B TIS|E|A|P|H
3(L|P|I |Y|F 8|P|H|S|E|A
4(Y|F|[L|P]|I 9 E|A|P|H|S

Options:
1) 66, 00, 68, 14,76

2) 95, 44,87,33,88
3) 89,32, 75,42, 69

4) 57,13, 99, 20, 58
Correct Answer: [ No Correct Answer |
Candidate Answer: 89, 32, 75, 42, 69



QiD : 250 -

A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-l are numbered from 5 to 9. A letter from these matnces can
be represented first by its row and next by its column, for example, ‘M’ can
be represented by 22, 44, etc., and ‘T can be represented by 67, 96, etc.
Similarly, you have to identify the set for the word “CROPS”.

U Qg hdel Uesh AEAT-AAg gRT oidm a1r &, ofar T Feheul A &
forell v A fgar &) fawedt i B s dwr-aep R & o a9t
gRT gRiT 71w ¥, a1 ™ U arw of ameypt # ¥ Inegel & Tarw 3R
Ufeh O TEaT 0 ¥ 4 & 3R 3negen T 5T 91 =T INYE A TH AW B
Ugel 38 URh 3 @G A FdFH AT gRT ST Sff §ehdl §1 SaTedor
& fow ‘M @Y 22, 44, 3fe gRT AT ST Fehdr & AT “T° @ 67, 96,
G GRT GARIT o Al &l 38T e d Ul uA A RBu e
“crROPS” & folu @ap = upaEE B

Matrix-I Matrix-ll

Jg-1 Jregg-l
012|314 5|6(7(8|9
O M[C|O|S|N 5| T|UlQ|P|R
1{CIN|S|M|O 6P R(T|JU|Q
2/ N|[OM|C|S A O & I | (= 3R
I|IS(IM|N[O|C s|Q|PIR|T|U
4 0[S |CI{N|M IR T|U[Q|P

Options:
1) 13,68, 10, 67, 40

2) 42,89, 41, 85, 31
3) 34,75,33,79,20

4) 13,56,24,95,14
Correct Answer: [ No Correct Answer |
Candidate Answer: 42, 89, 41, 85, 31

QID : 251 - In Indian economy, the sectors are divided into Private and Public on what basis?

VR Srfegee #, &1 ol dreei-ieh a1 s # fh smeaR W affepa fomar Simar 87

Options:
1) Ownership of enterprises
f R
2) Usage of raw materials
e TTe <Al TRINT
3) Nature of economic activities

4) Employment policies
AR Aferar

Correct Answer: Ownership of enterprises
TR IR WA

Candidate Answer: Ownership of enterprises
ory

QID : 252 - Which method is used to measure agricultural income in India?

IR & Y 3171 et ATIR & forg foher ugfar et i foRar Srar &2



Options:

1) Expenditure method

T uGht

2) Output method

I gl

3) Commodity flow method
T VIaTE UG

4) Input method

fAder

Correct Answer: Output method
I ugfa

Candidate Answer: Output method
ReIcE)

QID : 253 - Who estimated the National Income in India for the first time?

IR & AL AT T A Ty fohde ermar?

Options:
1) Prof. P. C. Mahalanobis
ThaR o, . AgTeife

2) Dr. V. K. R. V. Rao
31t & oR. . g

3) Dadabhai Naoroji

FTETATS ARIST

4) M. G. Ranade

. St IS

Correct Answer: Dadabhai Naoroji
ETRTHTE RISt

Candidate Answer: Dr. V. K. R. V. Rao
ST A &, IR A @

QID : 254 - GDP - indirect taxes + subsidies =

Sft. S1. ot — sTIcasT R + Siga =

Options:

1) NNP at factor cost
ITET AN WR T, T, oY,
2) GDP at factor cost
T ANt R S, &, ot
3) GNP

St .

4) Personal Income
g

Correct Answer: GDP at factor cost
T AnTa R S, . ot

Candidate Answer: GNP
Sft. g .

QID : 255 - Establishment of Chittaranjan Locomotive took place during which Five Year Plan?
Options:

1) Second

2) Third

GISE

3) Fourth

Theft

4) First

ugett

Correct Answer: First

Candidate Answer: Second

QID : 256 - What is the meaning of 'Laissez Faire Policy?
gy Hifa e oref @ 87



Options:

1) Fair legislation
ey fafer

2) Control over trade
IR WR g

3) Withdrawal of 'some restrictions'
‘T ufadel &1 ge ST
4) None of these
EEIEE ]
Correct Answer: Withdrawal of 'some restrictions'

Candidate Answer: Control over trade
AR R 5

QID : 257 - Who is the head of Municipal Corporation?

TR AT T a1l i gl 82

Options:

1) Prime Minister
PRICEEl

2) Sarpanch
LreE)

3) Governor
ISqUTeT

4) Mayor
HETIR
Correct Answer: Mayor

Candidate Answer: Mayor

QID : 258 - Which form of government believes in giving equal rights and opportunities for women and men?

I T TR AfGTSHt q2m gEst ot THM YRR qT saer 37 & fayma wadt 82

Options:
1) Feminist

2) Secularist
3) Castiest
ShTfeardy

4) Communalist
Correct Answer: Feminist

Candidate Answer: Feminist

QID : 259 - What is the maximum period for which the vice president can act as the President in case of vacancy in the the president's office?

Tgufy ue & RRE At R 7 30 gl sifdedw fhamt srafdy & forg agufay & IR wR vl o Tepar 2

Options:
1) 3 months
3T

2) 6 months
6 TgH

3) 1 year
199

4) 2 years
29y

Correct Answer: 6 months
6 TEH

Candidate Answer: 6 months
6 TER

QID : 260 - Currently, how many languages are recognized by Indian Constitution?

aaT §, aRdT dfqen & fora vt st o1 v g7



Options:
1) Fourteen

2) Fifteen
=g
3) Sixteen

4) Twenty-two
CIER
Correct Answer: Twenty-two

Candidate Answer: Twenty-two

QID : 261 - Which among the following is not appointed by the President of India?

ffafEa # 8 @ 9Ra & agufd gRT s 781 foat STraT 82
Options:

1) Vice-President of India

IRd &

2) Judge of Supreme Court

gat=a =raTerd & =aranefier

3) Attorney General of India

IR & HFIITE

4) Chief Justice of India

R & TR qrefier

Correct Answer: Vice-President of India
IR &

Candidate Answer: Vice-President of India
IRd &

QID : 262 - Which of the following article describes India also as Bharat?

frafafea & 4 i argee A sfoear &t vRd +ff @vgr man 87

Options:

1) Article 1
g% 1

2) Article 2
31T 2
3) Article 3
TR 3

4) Article 4
3T 4
Correct Answer: Article 1
3TgeRe 1

Candidate Answer: Article 4
a 4

QID : 263 - Which of the following writ is issued by a higher court to a lower court?

fFfifEa 7 @ o 1 =fies SReT STaR <TaTerd Yeh TR =TaTerd aht STRY 3T 82
Options:

1) Habeas Corpus
ERle R tsicaw

2) Quo Warranto

SR geaT

3) Prohibition

ufaser

4) None of these

T § iE

Correct Answer: Prohibition
ufaser

Candidate Answer: Prohibition
ufaser

QID : 264 - 'The Loyal Muhammadans of India' was a newspaper by which of the following?

T Arae JgeTed ATt 3fear fmfaifEa & § forget ue gameR o om?



Options:

1) Mohammad Ali Jinnah

AgrTg 3t fo=g

2) Ashfaqulla Khan

AHTHeTE @l

3) Shaukat Ali

MR ST

4) Sayyed Ahmed Khan

Jzg ergHg @

Correct Answer: Sayyed Ahmed Khan
Jzg 9rgHE @H

Candidate Answer: Sayyed Ahmed Khan
Jzg agHE @H

QID : 265 - Who among of the following was the founder of society called ‘Abhinav Bharat'?

"G WRA' AT TRAT Al 1T Al 7 § feae <t of?
Options:
1) Lala Lajpat Rai
SATAT AT I
2) Bal Gangadhar Tilak
STe] TR
3) Vinayak Damodar Savarkar

TIHIGR TR
4) Bipin Chandra Pal

g UTel

Correct Answer: Vinayak Damodar Savarkar

fomTaeR TrieR TaRaR

Candidate Answer: Vinayak Damodar Savarkar

fomTaeR TrieR ATaRaR

QID : 266 - First battle of Panipat was fought between which two armies?

T St T ASTS fo & SIS o sfte et it of?

Options:

1) Babur and Lodi Empire
IR qUT ANl G~

2) Britishers and Babur
[ECEGRIRCICH

3) Akbar and Hemu
SThER qUT 8,

4) Akbar and Rana of Mewar
3fehsR AT AT & 0T

Correct Answer: Babur and Lodi Empire
TR JUT A TH=a

Candidate Answer: Babur and Lodi Empire
FTER JAT A TTH~T

QID : 267 - Arrange the following historical events in the chronological order of their occurrence.

|. Champaran Satyagraha
II. Partition of Bengal
I1l. Jallianwala Bagh Massacre

FeafafEa A gemrsi & 37 HaThATIaR afedd FR|

|. GURYT TS

1. Srer faerST

111, STTITeTeT ST §TehiS
Options:

1)L,

2) 11, 11, 1

3) 11, 1,101

4) 1,10, 11

Correct Answer: 11, |, 11
Candidate Answer: 1, |, Il

QID : 268 - Which of the following civilization is famous for its city/town planning?

frfafed & & & & Feadr s TR FateE & fog o 87



Options:

1) Indus Valley Civilization

ey wrét Fozrar

2) Mesopotamian Civilization
Fgar

3) Persian Civilization

TIRY T

4) Egyptian Civilization
A gygan
Correct Answer: Indus Valley Civilization
e a1t oz

Candidate Answer: Indus Valley Civilization
e a1t oz

QID : 269 - Which of the following is suitable for well irrigation?

PR & & a5 o & R & forg suges &2
Options:
1) Rock surface of Peninsula
URIET 6l geriedt a8
2) Dry surface/tracts of Rajasthan
RTSTRT T G g/ AT
3) Costal Plains
g A &
4) Deltaic region of Mahandi River

Ens

Correct Answer: Deltaic region of Mahandi River
T T eI &

Candidate Answer: Dry surface/tracts of Rajasthan
TSI T G TAE/ AT

QID : 270 - Rotational axis of which of the following planet is highly tilted?

frfafeaa 7 § forg ug o1 9o srer sicnfres o gen 82
Options:

1) Earth

gedft

2) Uranus

iray)

3) Neptune

qaur

4) Jupiter

Fewfd

Correct Answer: Uranus
30T

Candidate Answer: Uranus
3207

QID : 271 - Near coastal areas, temperature on land in day time gets reduced due to .

T &5 & Fere ____ & R A & wHg fA IR 919 9 gt ST 81

Options:

1) Land breeze

Rl

2) Sea breeze

T IR

3) Both land and sea breeze
Ul qUT g GHR gt

4) Sparsely populated coasts
qa R g

Correct Answer: Sea breeze
T IR
Candidate Answer: Sea breeze

T IR

QID : 272 - Which of the following city is located on the banks of river Potomac?

fFafofea § 9 & ar e Mede 76 & ge R AT 82



Options:
1) Berlin
EISES

2) Islamabad
ESSIRICIE
3) Madrid

4) Washington D.C.
arfire €t 9.

Correct Answer: Washington D.C.

arfiTe &1, .

Candidate Answer: Washington D.C.
g .

QID : 273 - How much is the difference of time between any two consecutive longitudes?

forett &Y FARaR a1l & offar T9g ot SicR fohamT gl 82

Options:
1) 10 minutes
10 e
2) 14 minutes
14 fime

3) 4 minutes
4 fe

4) 30 minutes
30 fAme

Correct Answer: 4 minutes
4 e

Candidate Answer: 4 minutes
4 e

QID : 274 - Which of the following is considered as physical basis of life?

fFafofea & 9 g Sfiaa @1 ofifas snar T STar g2

Options:
1) Cell wall
et fAfy

2) Cell membrane
hifAehT

3) Mitochondria

4) Protoplasm

Stage (Mewres)

Correct Answer: Protoplasm
(MeTwTTSH)

Candidate Answer: Mitochondria

QID : 275 - Who of the following is known as 'Father of Zoology'?
frfafea 7 § g 'Sig o &1 S 71 T Sire 82

Options:
1) Darwin

2) Aristotle
IREG

3) Heckle
bl

4) Edward Jenner

TEaE SR

Correct Answer: Aristotle
IRE

Candidate Answer: Aristotle

AN

QID : 276 - Which of the following branch of biology is related with study of heredity and variations?
fafafEa 8 @ shia fom & e < aman sdfRyeRar aun fafdeare & sreaae @ efda 82



Options:
1) Microbiology
gersiig-fam
2) Immunology

&1
3) Genetics

R

4) Entomology
Hefamm

Correct Answer: Genetics
R

Canc;lidate Answer: Genetics
R

QID : 277 - Which of the following is NOT a vestigial organ in human body?

f=fafaa 3 § o a1 ama IRR &1 e fafde s gl 2
Options:

1) Thymus Gland

RIS

2) Wisdom teeth

3fehel Y &6

3) Pharynx

ot (ShRer)

4) Thyroid gland
e
Correct Answer: Thyroid gland

Candidate Answer: Thyroid gland
it

QID : 278 - Bile is produced by which of the following gland?

= 4 @ fonw of= & iy S giam &2
Options:

1) Liver

gPpd

2) Kidney

et

3) Gall bladder
U

4) Spleen
faeett

Correct Answer: Liver
Candidate Answer: Liver

gpd

QID : 279 - Which of the following cells secret insulin?

frfafea § & fora siferstt & sgfor o Rama glar 82
Options:

1) acells

a <hlR

2) B cells

B AR

3) 6 cells

& ifreprdd

4) Nerve cells

: T

Correct Answer: B cells

B ifAprd

Candidate Answer: 3 cells

B ifAprd

QID : 280 - Mass of an object is a .

Uh g FISTAF TR _____ &l



Options:
1) Physical Quantity
ifes AT

2) Fundamental Quantity
THiferen AT

3) Scalar Quantity

SifEer AT

4) All options are correct
goft R gt g |

Correct Answer: All options are correct

Tofi R gt g |

Candidate Answer: All options are correct

gofi R gt g |

QID : 281 - When a bus starts suddenly, then passengers in the bus tend to fall backwards. This event is an example of .

9 Uk 99 ST § Il g, 99 99 & 96 ant Hid foh ok fRA o oI vgd 814 §1 98 "1 ____ &l Ueh 3318301 &

Options:
1) Inertia of rest
R &1 STea
2) Inertia of motion
A B ST
3) Inertia of direction
fear &1 STec
4) None of these

3 3

Correct Answer: Inertia of rest

a1 STe

Candidate Answer: Inertia of motion
A A e

QID : 282 - Momentum of an object depends on which factors?

I. Mass of the object
II. Speed of the object
IIl. Volume of the object

TG AT TN fohT hRepT TR 1R et &7

|. TR I ST
1. a&g & fa

1. a%g T I
Options:

1) I only

e |

2) | and Il only
Fad | qurll

3) land lll only
I qar il

4) 1, 1land Il

I, nagrli

Correct Answer: | and Il only

hadt | FeT Il

Candidate Answer: | and Il only

hadt | FaT Il

QID : 283 - What is the approximate height of any geostationary satellite from earth’s surface (in km)?

foret apzarofia Iuwrg &t Sars et it Tag @ aeT (6 . 7) foraf gt 82

Options:
1) 36000
2) 45000
3) 48000
4) 30000

Correct Answer: 36000
Candidate Answer: 36000

QID : 284 - Which of the following is used to enter data and instructions into a computer?

frafafea 3 @ fohgen v srger & grer g fRder ufae @ & forg fmar smar 82



Options:
1) Software

2) Output device
33eye fEarsd

3) Malware

4) Input device
gqe fearza
Correct Answer: Input device
gqe fearza

Candidate Answer: Input device

ERC

QID : 285 - Which among the following has largest storing space?

fFrafafEa 7 9 frad dag e ge< sifdes &2

Options:
1) Giga byte
maTge

2) Mega byte

E0| G o

3) Tera byte

a3

4) Kilo byte

[ETICIE

Correct Answer: Tera byte

Candidate Answer: Tera byte

QID : 286 - Which among the following is a pure element?

fafafea § @ oF a1 g g 9@ &2

Options:
1) Glass
EaE]

2) Cement

3) Sodium
ifsam

4) Steel
W

Correct Answer: Sodium

Candidate Answer: Sodium

QID : 287 - Sodium bicarbonate is chemical name of which of the following?

qifeny TEeEe F=fofea & § forge samafAe 9w 872

Options:
1) Baking Soda
SfchT gt

2) Washing Powder
HUS U BT IS
3) Plaster

TR

4) Fly-Ash
ISH TG

Correct Answer: Baking Soda

Candidate Answer: Baking Soda
EIEAEIS)

QID : 288 - How is atomic mass number determined?

Qeh URHTY] ST WRet ot 3t FrefRa foma tmar 82



Options:

1) By total number of protons

T Ttert Y T gRT

2) By total number of neutrons

G g1 chl TEAT GRT

3) By adding number of protons and neutrons

T TIeT1 JT =i chl T Y Sirgane

4) By total number of electrons

Gl SelengiHl T TEAT gRT

Correct Answer: By adding number of protons and neutrons

el UISHHT TUT =JgiA1 hl Tl gt

Candidate Answer: By adding number of protons and neutrons
T ol et

Sl TSI quT =g &t T

QID : 289 - Which of the following reaction is the main cause of energy radiated from Sun?

Fafafea 7 8 b @ sifaifhar g @ fafeeRa g arelt St &1 7&T SwRT 82
Options:

1) Nuclear fission

2) Nuclear fusion

3) Chemical reaction

4) Diffusion reaction
Correct Answer: Nuclear fusion

Candidate Answer: Nuclear fusion

QID : 290 - With which of the following is 'Van Mahotsav' associated?

‘T Hgtega’ fAmfafEa 5 § fored d@eifda &2
Options:

1) Cutting of trees

geit At e

2) Planting of trees

gERIgT

3) Genetic modification of trees
g&it & STTgaife uRad=

4) Increase in crops
H gt

Correct Answer: Planting of trees
JRIgUT
Candidate Answer: Planting of trees

JeRIgoT

QID : 291 - Plants which grow in salty water near sea shore are called as

g e & fiche TR ot & I aret diert Bt FEd ol

Options:
1) Halophytes

2) Xerophytes

L

3) Heliophytes

Tauifgs

4) Saprophytes

Tqdstar

Correct Answer: Halophytes

Candidate Answer: Halophytes

QID : 292 - How many ecological hotspots are present in India?

IRA # fohawt uRfefdes giewre 82
Options:

Correct Answer: 4
Candidate Answer: 4



QID : 293 - The Union Ministry of Human Resource Development has launched a nationwide 'Students for Soldiers: Vidya Veerta Abhiyan' to display portraits of
decorated soldiers in education institutes.

R ATa T FATer 3 Sifgies Tt & @ fergftra Sfrent At ST & ueds & fog IgeTdt 'y B Sieerd: fae dkar st 3 R 2
Options:
1) Ashok Chakra
CRIGIGED
2) Mahaveer Chakra
HETR Ik
3) Paramveer Chakra
Ich
4) Veer Chakra
Cii&ED

Correct Answer: Paramveer Chakra
qch

Candidate Answer: Paramveer Chakra
ch

QID : 294 - Who amongst the following gave the 'Periodic Law'?

31t A fAfefea & € foeam feam?
Options:

1) Carlton McGee

Slete ARt

2) Emil Fischer

3T fReR

3) Charles Darwin

4) Dmitri Mendeleev
Correct Answer: Dmitri Mendeleev

Sfafy At

Candidate Answer: Dmitri Mendeleev

QID : 295 -
Match the following.

IGEGICECGECIRE:IGRGIIE |

Trophy / Eiér Sport / @er

1. Ranji Trophy a. Football
TOTSH gt Heard

2. Santosh Trophy b. Cricket
A grdT forche

3. AghaKhan Cup c. Hockey
HTOT @ &Y ZichT

Options:
1)1-a,2-b3-c

2)1-b,2-a3-c
3)1-a,2-¢,3-b
4)1-b2-¢3-a

Correct Answer: 1 —b,2-3a,3-c¢
Candidate Answer: 1 —b,2-3a,3-c¢

QID : 296 - Which of the following pair is INCORRECT?
FafafEa 7 8 &9 91 g™ ed 82



Options:

1) Ghoomar — Rajasthan
AR — ST

2) Bihu — Bihar

fag - iR

3) Bhangra — Punjab
AT — GoTeT

4) Lavani — Maharashtra
arauft — AgRTY

Correct Answer: Bihu — Bihar
fog - f¥gR

Candidate Answer: Bihu — Bihar

QID : 297 - In the 64th National Awards, which Hindi film has been awarded the Best Hindi Film for the year 2016?

64 df TET fhes RERT #, fond B4l fihed &t 2016 & T 9IS f=al fthew a1 qReanR feam mam 87

Options:
1) Neerja
i

2) Udta Punjab
JsdT UoTe

3) Dangal

[

4) Sultan
o=

Correct Answer: Neerja

Candidate Answer: Dangal
uc)

QID : 298 - The book 'Hope in a challenged Democracy' is authored by _____.

BT 3 31 Acfoe Sl & g foret mE 81
Options:

1) M. Veerappa Moily

. dRoT Agent

2) Sunita Narayan

gfar AR

32 Dr. Ashwini Kumar

ST, AIft AR
4) Anuradha Roy

STgRTen

Correct Answer: Dr. Ashwini Kumar
ST, ifgft AR

Candidate Answer: Dr. Ashwini Kumar

. g gAR

QID : 299 - With which country India has signed a bilateral contract for development and operations of Chabahar port?

TR 321 3 W1 RS 7 FTaTER eTE & faehr qem arer & forg ues fguefta srady ur geamer forar 82
Options:

1) Israel

ESNES]

2) Iran

R

3) Tehran

GRERE]

4) Turkey
Correct Answer: Iran

Candidate Answer: Iran

QID : 300 - 'Operation Pawan' was a peace-keeping operation by India in its which neighbouring country?

'R U YR gRT 39 fohe usiRft 21 & foham mam Yep <1ifer TmoeT opt SiTaRer om?



Options:

1) Myanmar
AR

2) Bangladesh
ELSicel

3) Nepal

AuTet

4) Sri Lanka

Eiccal

Correct Answer: Sri Lanka

Car)didate Answer: Sri Lanka

QID : 301 - What is the value of 22 + 62 + 102 + 142-12-52-92-1327

22+ 62+102+142-12-52-92-132 g 7T T &2
Options:

10

2)15

3)30

4) 60
Correct Answer: 60
Candidate Answer: 60

QID : 302 - The sum of three consecutive natural numbers is always divisible by ____.

1 ShETTa UTehfoes TReanatt et alT ___ & ghem o gtar 81
Options:

13

2)9

3)15

4) 21
Correct Answer: 3
Candidate Answer: 3

QID : 303 - A boy added all natural numbers from 1 to 20, however he missed one number due to which the sum becomes 190. What is the number which the boy
missed?

ek T€ahT 1§ 20 ach &t gt urepfien et &t Sitedr & fthe ag Ten T ot ST ofel STTaT &, foradh ot I 190 gt ST1aT &1 a8 St ot &t & fO efedht ot mam ar?
Options:

15

2)10

3)15

4) 20

Correct Answer: 20

Candidate Answer: 20

QID : 304 - If 142N is divisible by 12, then what is the value of N?

afe 142N, 12 9 faarsa 8, af N a1 91 aar ghm?
Options:

Correct Answer: 8
Candidate Answer: 8

QID : 305 - 3/4 part of a tank is filled with oil. After taking out 60 litres of oil the tank is 2/3 part full. What is the capacity (in litres) of the tank?

Ueh Eehl ST 3/4 AT el § ¥RT g1 81 60 f1ex I fehTet 77t o I1G Eehl ahT 2/3 HIRT HRT TG &1 Eohl h &7 (fiex #) T ghft?
Options:

1) 240

2) 360

3) 600

4) 720

Correct Answer: 720

Candidate Answer: 240



QID : 306 - Raman is three times as efficient as Manan. Raman can complete a work in 60 days less than Manan. In how many days the work would be complete if
both of them work together?

A ST &A1 A & i THT & 1 39 Qo i &l e | 79§ 60 A e o 21 S fehe AT F o gt Stromm aft i fietene 39 et Rt v 87
Options:

1)15

2)175

3)22.5

4)27.5
Correct Answer: 22.5
Candidate Answer: 22.5

QID : 307 - Two inlet pipes can fill a cistern in 5 and 6 hours respectively and an outlet pipe can empty 24 gallons of water per hour. All the three pipes working
together can fill the empty cistern in 10 hours. What is the capacity (in gallons) of the tank?

&l T Ueh ehl ohl ShHST: 5 T 6 €S H R Tohd & 311X Yah el At Uep 2 & 24 fiet Tt WTefl SR GehdT &1 Yeh 1Y i1 o7 Wiett &eht aht 10 62 B 3R Tehdl & | bl I &mar (fe 7)
FTE?

Options:

Correct Answer: 90
Candidate Answer: 90

QID : 308 - After giving a discount of 44% a cycle is sold for Rs 17920. What is the marked price (in Rs) of the cycle?

44% &Y PE I % YT Yk A1Sfhet el 17920 T, F ST 1T & | ATsfehet a1 Sifehd 1w (2. #) 1 82
Options:
1) 28000
2) 31500
3) 32000

4) 35000
Correct Answer: 32000
Candidate Answer: 32000

QID : 309 - The marked price of an article is 80% more than its cost price. What should be the discount (in %) offered by the shopkeeper so that he earns a profit of
44%?

Qe g ol Sifchd Hed I8 o 4o § 80% 3Tk g1 fhaT B2 (% H) & R THMER Y 44% T ATH U 817
Options:

1)10

2)20

3)30

4) 44
Correct Answer: 20
Candidate Answer: 20

QID : 310 - The ratio of the speed of A, Band Cis 2 : 3 : 6 respectively. What is the ratio of the time taken by A, B and C respectively to cover the same distance?

A, BT C &Y 71 AT SUTd shHRT: 2 : 3 : 6 81 TH Gt a et & ford shART: A, B JT C gRT ol 718 99 ot S1guTdl R gIvm?

Options:

12:3:6

2)6:3:2

3)3:2:1

4)1:2:3

Correct Answer: 3:2:1
Candidate Answer:3:2: 1

QID:311-Ifx-y:y-z:z-k=2:3:5,then what is the value of z : (x + k)?

afex-y:y—z:z-k=2:3:58,a z: (x + k) & 7 1 EM?

Options:
1H1:2
2)2:1
3)1:3
4)1:4



Correct Answer: 1: 2
Candidate Answer: 1 : 2

QID : 312 - The average of 19 results is 111. If the average of first 10 results is 82 and that of the last 10 results is 129, then what will be the 10 result?

19 ufkomat i sftaa 111 &1 afe w10 ulRomst 6 siaa 82 & aur sifaw 10 gkt & sftaa 129 &, &Y 10 af ulRoms i givm?

Options:

10

2)1

3) 82

4111

Correct Answer: 1

Candidate Answer: 1

QID : 313 - Eleven friends spent Rs 19 each on a tour and the twelfth friend spent Rs 11 less than the average expenditure of all twelve of them. What is the total
money (in Rs) spent by them?

RE e & udes A gop yHuT R 19 &, T fhd § JUT IRed i A 9oft aRg & sffad @< § 11 &. o6\ @ fohd §1 3770k gRT & &l T8 G Wi (3 H) a1 82

Options:
1) 216

2) 227
3) 236

4) 247
Correct Answer: 216
Candidate Answer: 216

QID : 314 - Atul sells 12 pencils at Rs 400. If there is a loss equal to the cost price of 4 pencil, then what is the cost price (in Rs) of a pencil?

31T 400 T Y 12 GRS srarelt 81 A 4 SR o o7 e & SRIR BT BT 8, A b Uit ot 3 Hed (. ) R g7
Options:

1) 30

2) 45

3)50

4) 60
Correct Answer: 50
Candidate Answer: 50

QID : 315 - A trader gets 25% profit by selling an article. If he buys at half the rate and sells at the same selling price as before, then what will be his percentage
profit?
Teh TR Yeh ag i 25% o o1 TR 9T 81 AfS I8 avg i oelt &r TR @IadT & a7 S U8 arel [Iehd Hed TR 8 SaidT 3§, df IUhT ATeT Hfderd T gim?

Options:
1) 50

2) 100
3)125
4)150

Correct Answer: 150
Candidate Answer: 150

QID:316- Ais 16.66% less than B. If value of A is 500, then what is the value of B?

A B 16.66% & &1 afe A &1 A1 500 g, @t B o1 |1 T &2

Options:
1) 583.33

2) 566.66
3) 600

4) 620
Correct Answer: 600
Candidate Answer: 583.33

QID : 317 - If the side of a cube is increased by 20%, then what will be the percentage increase in the volume of cube?

& Yk T T o1 § 20% & gfg T S 8, At 7 S Smaa | fohaw wfaid &t g ghii?



Options:
1) 60

2) 66.6
3)7258

4)68.5
Correct Answer: 72.8
Candidate Answer: 72.8

QID : 318 - Two trains are moving in the same direction at speed of 60 km/hr and 70 km/hr. The time taken by faster train to cross a man sitting in the slower train is
2 minutes 42 seconds. What will be the length (in metres) of the faster train?

&l Yermifeat 60 fs.#ft. ufdy der aur 70 s #ft. ufar ger it vy @ Tom e & 91 36 1 At i arett Jermet il 1 aredt ISt A §3 cafth @ uR @A | 2 e 42 Jehe w1 aHg Adt
&1 3% i areft Yot it ervas (ftex F) @ ghft?

Options:
1) 220
2) 330
3) 450
4) 540

Correct Answer: 450
Candidate Answer: 450

QID : 319 - Two people A and B are at a distance of 110 km from each other at 10:30 AM. After 30 mins, A starts moving towards B at a speed of 20 km/hr while at
12 PM. B starts moving away from A at a speed of 15 km/hr. At what time (in AM) will they meet on the next day?

3 aafth A duT B 10:30 gafed (3. TH.) R ua g@R § 110 iR & gt &1 A, 30 e a5 20 6., ufy ger it ify @ B Y 8k Ieran & Sraifeh B, 12 srorre (d. g\.) wr 15 fan. .
Ty e HY 1fq I A Y TEE 2 7 geran &1 75 vt R fove T (qafe /) s

Options:

Correct Answer: 6:00
Candidate Answer: 6:00

QID : 320 - A certain sum becomes 4 times in 7 years, at simple interest, then in how many years it will become 16 times?

I RN T WR S 7 RIS SR 7 ant F 4 7 8 et B, it v awt & g 16 1 8 Sigi?
Options:

116

2) 21

3) 28

4)35
Correct Answer: 35
Candidate Answer: 21

QID : 321 - What will be the amount on Rs 24000 at the rate of 35% per annum compounded yearly for 2 years?

2 gut # 35 ufaerd ufd ay 6l &= & 24000 3.0 a1 Iergfs I e areft afy @ ghfi?
Options:

1) 43740

2) 49870

3) 51785

4) 40890

Correct Answer: 43740

Candidate Answer: 43740



QID : 322 -

The line chart given below represents the revenue (in
Rs crores) of a company for 6 years.

g Ro or T By # U T & 6 a¥ F TIET
(FU= F. H) Fr Z_MTT T E
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What is the average revenue (in Rs crores) for given 6 years?

faw 7 6 auf & forg siwa Tora (e . #) w82
Options:
1) 423.31

2) 492.21
3) 468.33

4) 462.22
Correct Answer: 468.33
Candidate Answer: 468.33



QID : 323 -

The line chart given below represents the revenue (in
Rs crores) of a company for 6 years.

g Ro or T By # U T & 6 a¥ F TIET
(FU= F. H) Fr Z_MTT T E

700 - 650
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o
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What is the percentage decrease in the revenue from year 2011 to 2012?

¥ 2011 §ay 2012 & yera foha= ufdera & & gom &?

Options:
118

2)44
3)22

4) 36
Correct Answer: 44
Candidate Answer: 44



QID : 324 -

The line chart given below represents the revenue (in
Rs crores) of a company for 6 years.

g Ro or T By # U T & 6 a¥ F TIET
(FU= F. H) Fr Z_MTT T E

700 - 650

23]

o

o
1

500 510
470

15))]

o

o
I

300 -+ 400
200 ~ 280

Revenue (InRs crores)
e (F03 . H)
i
o
o

0 ! T T T T T 1
2011 2012 2013 2014 2015 2016

Year /9%

Revenue in year 2015 is what percent of revenue in year 2014?

Ty 2015 & Iord, T 2014 & ST ot fehd=T ufasrd &2

Options:
1)61.53

2)62.5
3)38.46

4)55.14
Correct Answer: 61.53
Candidate Answer: 61.53



QID : 325 -

The line chart given below represents the revenue (in
Rs crores) of a company for 6 years.

g Ro or T By # U T & 6 a¥ F TIET
(FU= F. H) Fr Z_MTT T E

700 - 650

500 - 470

400 -

300 - 400

200 - 280

100 ~
0

Revenue (InRs crores)
IoTEd (FUS F. A)

12 2013 2014 2015 2016
Year /9%

2011 20

Total revenue in year 2013, 2014 and 2015 is what percent of total revenue in given 6 years?

T 2013, 2014 U1 2015 1 Tl o1, T T 6 ot & et e ot foha =1 Ufdera 82

Options:
1) 47.34

2) 59.61
3) 49.33

4) 54.09
Correct Answer: 54.09
Candidate Answer: 54.09

QID : 326 - What is the length of the longest rod that can be placed in a room which is 6 metres long, 8 metres broad and 20 metres high?

ek 6 Hiex was, 8 Hiex diers 8fiR 20 Hiex Fars aret iR B et S aTeft Tad ol B 6l s T 87

Options:
1) 15v5

2) 20
3)15

4) 10v5
Correct Answer: 10v5
Candidate Answer: 10v5

QID : 327 - What is the curved surface area (in cm?) of a cylinder having radius of base as 21 cm and height as 30 cm?

Teh e forgdh SmeR Y Brear 21 .4, qar =g 30 .4, , o1 gk gl &=t (§.701.2 &) r g

Options:
1) 3740

2) 3850
3) 1980

4) 3960
Correct Answer: 3960
Candidate Answer: 3960



QID : 328 - Parallel sides of a trapezium are 14 cm and 35 cm and the area is 1176 cm2. What is the value of the distance (in cm) between parallel sides?

Tk TS TS & TEiaR oy 14 .78, qur 35 Q.7 § 3R ITehT dthet 1176 .12 {1 TwicR yyemait & e it g (@A) #) T gnfe
Options:

172

2) 96

3)24

4) 48

Correct Answer: 48

Candidate Answer: 48

QID : 329 - A cylindrical well of height 80 metres and radius 7 metres is dug in a field 28 metres long and 22 metres wide. The earth taken out is spread evenly on the
field. What is the increase (in metres) in the level of the field?

28 Hiex de T 22 Hiex TS ©d & Yeh 80 Hiex MexTs a1 7 Hiex Beam aret SRR $U et @ial a1 &1 FY & fentent 718 g ol @d & Ter §9H &0 & therran 7T &1 W & TR A
fonat Fgiast (Hiex A) gt smgft?

Options:

1) 13.33

2) 26.66

3)18.17

4)28.17

Correct Answer: 26.66
Candidate Answer: 18.17

QID : 330 - Two identical circles each of radius 4 cm intersect such that the circumference of each one passes through the centre of the other. What is the area (in
cmz) of the intersecting region?

< ey g Y rear 4 @Y. 3,5 Ueh gER oY 39 TR ferede hd € o IR uRfY 7ok e & dhesr & Sl Tordl 81 ufdedfd 8 ot ket (3.701.2 F) @ g

Options:
1)
167
Nl . W
3
2)
32m
N5
3
3)
32m
.83
3
4)
64
1643
3
Correct Answer:
32m
S gs
>
Candidate Answer:
32m
. 8J8
.
QID: 331 -

If xz—x«fﬁT"l:O, then what is the value of x—%?

o x? - x-/68 +1=0 &, ar x—% & AT F4T &2

Options:

1) V66

2)8

3) v62

4) 6

Correct Answer: 8



Candidate Answer: 8

QID : 332-If x +y = 7, then what is the value of x3 + y3 + 21xy?

fex+y =78, @ x3 +y3 + 21xy & A T E?

Options:
1) 343
2) 49

3) 294
4) 288

Correct Answer: 343
Candidate Answer: 343

QID : 333 - If 2a- (2/a) + 4 = 0, then what is the value of a3 - (1/a%) + 14?

gfe 2a-(2/a) + 4= 0%, dt a3 - (1/a%) + 14 & A @ gm?
Options:

1)-14

2)-12

3)0

414
Correct Answer: 0
Candidate Answer: 0

QID : 334 - If a and B are the roots of the equation x2 - x + 3 = 0, then what is the value of a% + p4?

e o U B gteor x2 - x + 3 = 0 & e &, at a? + p* o1 A T gh?
Options:

17

2)9

3)11

413

Correct Answer: 7

Candidate Answer: 7

QID :335-

If x2+ iz = 2, then what is the value of x5?
X

uﬁx2+i2=2?r, Al x® T AT FIT &7
X

Options:
N6

2)0
31

4)3
Correct Answer: 1
Candidate Answer: 1

QID : 336 - PQR is an isosceles triangle with such that PQ = PR = 15 cm and QR = 24 cm. PS is a perpendicular bisector of the base QR. What is the length (in cm) of
PS?

PQR U& dnfgarg gt & 9@ PQ = PR = 15 .71 @1 QR = 24 .71 §1 PS 3MUR QR &1 wd f§71e1h g1 PS &1 A (.41, #) s 82
Options:

1)18

2)6

3)12

4)9

Correct Answer: 9

Candidate Answer: 9

QID : 337 - ABCD is a cyclic quadrilateral and AB is the diameter of the circle. If Z CAB = 48°, then what is the value (in degrees) of £ ADC?

ABCD U Ishia Ig<l & a1 AB g1 o1 19 81 af £ CAB = 48° 8, @ L ADC @t = (feft #) arm ghm?



Options:
1)52

2) 77
3)138

4)142
Correct Answer: 138
Candidate Answer: 138

QID : 338 - Two tangents are drawn from a point P to a circle at Q and R. If O is the centre of the circle and £ QOP = 40°, then what is the value (in degrees) of
£LQPR?

Ueh g IR foig P & aF wef 3@ Q qr R @it 75 &1 3 O g« 1 & § 9T L QOP = 40° §, df £ QPR &1 A (f&tft #) &/ gm?
Options:

Correct Answer: 100
Candidate Answer: 100

QiD:339-
In the given figure, OQ = QR = RTand O is the centre of
the circle. What is the ZPTQ?

& T HPfa A 0OQ=QR=RTIAOTH & *eg &l

ZPTQ = &I
T
FAN
AN
r kY
/ N,
fff \\\
§———%R
7
7 i
."ll 4 / .\\ \"
.L,-" A\
P— 1Q
I| O II
L}
I-"\ ‘
™ .
e ol
Options:
1) 30
2) 60
3) 45
4)90

Correct Answer: 60
Candidate Answer: 60

QID : 340 - ABC is a triangle which is right angled at A and a perpendicular AD is drawn on the hypotenuse BC. If BC = 8 and AD = 3, then what is the value of AB x
AC?

ABC T sl & STt A UR THehIUT § T Teh &+ AD &1 Ui BC UR STl ST1dlT &1 afe BC = 8 duT AD = 3 g, df AB x AC &1 HT9 &RIT &2
Options:

112

2)24

3)32

4)36

Correct Answer: 24

Candidate Answer: 24



QID : 341 -

What is the simplified value of LM]?
secB

[cot8+tan8]?ﬂ T T

sec B

Options:
1) 1-cos?9

2)2sin B
3) cosec 6

4) sec? @
Correct Answer: cosec 6
Candidate Answer: cosec 6

QID : 342 - If x and y are positive acute angles such that sin(4x - y) = 1 and cos(2x +y) = 1/2, then what is the value of cot (x + 2y)?

I x TAT y YFTeHE AR 8, sin(dx — y) = 1 qT cos(2x +y) = 1/2 &, A cot (x + 2y) & A T gAMm?

Options:

1)v3

2)1/V3

3)1

4) Cannot be determined
1 A fenaT ST Fehal

Correct Answer: 1
Candidate Answer: 1

QID : 343 - 80 m away from the foot of the tower, the angle of elevation of the top of the tower is 60°. What is the height (in metres) of the tower?

ek HIMR & uTe & 80 Hiex g fonedt foig @ iR & ofief &1 371371 ator 60° &1 HAR &t $arg (Fex ) R &2

Options:
1) 40

2) 60v3
3) 80v3

4) 40/V3
Correct Answer: 80v3
Candidate Answer: 80v3

QID : 344 - The respective ratio between the height of tower and the point at some distance from its foot is 57 : 19v3. What is the angle (in degrees) of elevation of
the top of the tower?

Teh HIR Y $3T8 a7 IHh TS & o ¢ R [T Gak foig &l gt a1 S1gura 57 : 19v3 §1 HiAR o 2fief a1 3=1a= aior (feeft #) s @2

Options:

1) 30

2) 45

3) 60

4)75

Correct Answer: 60
Candidate Answer: 60

QID: 345-
If cos 8 + sin 8 = mand sec 8 + cosec 8 =n, then

what is the value of g (m?>=1)?

IfE cosB +sinB=mdATsecO +cosecB8=n &,

ar g(m2—1}zﬁrm?-ra-'~m%?



Options:
Hm

2) 2m
3) mn

4) 2n
Correct Answer: m
Candidate Answer: m

QID : 346 -

The given pie chart shows the expenditure (in
degrees) incurred on making a motorcycle.

for o g9 R # Ut AeEEfed & gae d
o arer e (el ) v gt

Frame/
g, 72° Engine/

-

goreT, 108°

Qthers/
=T, 60°

Paint/
T4, 36°

If the total expenditure incurred is Rs 60000, then what is the expenditure on seat?

I et = 60000 %. B, d TE W 3R ma =7 (3. #) @ gim?
Options:

1) 12000

2) 3000

3) 6000

4) 2000

Correct Answer: 2000

Candidate Answer: 2000



QID : 347 -
The given pie chart shows the expenditure (in
degrees) incurred on making a motorcycle.

ffr om g7 Ry & 1o AewEEfra & TEa #
T arer e (Rafr &) v gt &)

Engine/

*

gotel, 108°

Others /
=, 60°

If the expenditure incurred on tyres is Rs 15000, then what is the expenditure incurred on painting?

Ifg ufgal w forar war @y 15000 3. 8, aF 31 0 fman mar =g (. §) i ghm?

Options:

1) 30000

2) 8000

3) 7500

4) 6000

Correct Answer: 7500
Candidate Answer: 7500



QID: 348 -
The given pie chart shows the expenditure (in
degrees) incurred on making a motorcycle.

ffr om g7 Ry & 1o AewEEfra & TEa #
T arer e (Rafr &) v gt &)

Engine/

*

gotel, 108°

Others /
=, 60°

Expenditure incurred on others is how much percent more than the expenditure incurred on paint?

3= IR R man e 1 WR R e @ foRa wfaera sifdres 82

Options:
1) 24

2) 40
3) 66.66

4)57.33
Correct Answer: 66.66
Candidate Answer: 66.66



QID : 349 -
The given pie chart shows the expenditure (in
degrees) incurred on making a motorcycle.

ffr om g7 Ry & 1o AewEEfra & TEa #
T arer e (Rafr &) v gt &)

Engine/

*

gotel, 108°

Others /
=, 60°

The expenditure incurred on seat is how much percent less than the expenditure incurred on tyres?

TEY W o man =g ufgel wR Ry 4 s @ foRae ufasra a2

Options:
1) 83.33

2) 66.66
3)78.22

4) 85.33
Correct Answer: 83.33
Candidate Answer: 83.33



QID : 350 -

The given pie chart shows the expenditure (in
degrees) incurred on making a motorcycle.

ffr om g7 Ry & 1o AewEEfra & TEa #
T arer e (Rafr &) v gt &)

Engine/

*

gotel, 108°

Others /
=, 60°

If the expenditure on tyres is Rs 10000, then the expenditure on paint is how much more (in Rs) more than the expenditure on seat?

afe ufgal o= foman mar == 10000 . &, J &1 o= foka ot g ) wR Ry 1Tg e & foha (3. H) eifdres 82

Options:
1) 2733.33

2) 3333.33
3)3122.22

4) 3555.55
Correct Answer: 3333.33
Candidate Answer: 3333.33

QID : 351 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'.

Madhuri and | have done my (1)/ work patiently and diligently (2)/ just for our safe and secure future. (3)/ No Error (4)
Options:

Correct Answer: 1
Candidate Answer: 1

QID : 352 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option.
If a sentence is free from error, select '‘No Error'.

Sunita is feeling little uncomfortable today (1)/ because she is ill, so she can perform (2)/ her work after having some rest for a while. (3)/ No Error (4)
Options:

Correct Answer: 2
Candidate Answer: 2

QID : 353 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'.

We must (1)/ denounce justice (2)/ and oppression. (3)/ No Error (4)



Options:

1)1

2)2

3)3

44

Correct Answer: 2
Candidate Answer: 1

QID : 354 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option.
If a sentence is free from error, select ‘No Error’.

| don't think, Neha is a wiser as (1)/ Sonali, so she is not (2)/ competent for this job. (3)/ No Error (4)
Options:

1)1

2)2

3)3

44

Correct Answer: 1

Candidate Answer: 2

QID : 355 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'.

In the Mathematics class, I sit next to (1)/ Raj, who is the captain of the basket ball (2)/ team and undoubtedly the best basket ball player in Delhi. (3)/ No Error (4)
Options:

Correct Answer: 4
Candidate Answer: 3

QID : 356 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

The examination will commence next week.
Options:

1) since

2) from

3) on

4) with

Correct Answer: from

Candidate Answer: from

QID : 357 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

Sunita said that she had never _____ a book she liked so much.
Options:

1) viewed on

2) come across

3) held upon

4) saw into

Correct Answer: come across
Candidate Answer: come across

QID : 358 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

Everything hinges what happens next.
Options:

1) of

2) with

3)in

4) upon

Correct Answer: upon

Candidate Answer: of

QID : 359 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

Her father died because they did not immediately ____ a doctor.



Options:
1) call for
2) call up
3) call at
4) call in

Correct Answer: call up
Candidate Answer: call up

QID : 360 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

Although his brother is blind, he is very fast calculations.
Options:

1)in

2) with

3) at

4) about

Correct Answer: at

Candidate Answer: at

QID : 361 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Perfidious

Options:

1) vigour

2) disloyal

3) bondage

4) relinquish

Correct Answer: disloyal
Candidate Answer: bondage

QID : 362 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Apparition

Options:

1) award

2) correct

3) spirit

4) revenge

Correct Answer: spirit
Candidate Answer: revenge

QID : 363 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Insolent

Options:

1) bold

2) dirty

3) feud

4) lucid

Correct Answer: bold
Candidate Answer: dirty

QID : 364 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Sordid

Options:

1) unpleasant

2) variant

3) rigidity

4) tender

Correct Answer: unpleasant
Candidate Answer: unpleasant

QID : 365 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Tenuous

Options:

1) wry

2) linger

3) clean

4) thin

Correct Answer: thin
Candidate Answer: clean



QID : 366 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Babel
Options:

1) handsome
2) quiet

3) ignorant
4) careless

Correct Answer: quiet
Candidate Answer: handsome

QID : 367 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Derisive
Options:

1) lenient

2) respectful
3) extravagant
4) hostile

Correct Answer: respectful
Candidate Answer: respectful

QID : 368 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Reckless

Options:

1) puzzling

2) preacher

3) spiritual

4) cautious

Correct Answer: cautious

Candidate Answer: cautious

QID : 369 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Arcane
Options:
1) public
2) dark

3) evasive
4) secret

Correct Answer: public
Candidate Answer: evasive

QID : 370 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Wreck

Options:

1) advance

2) surfeit

3) triumph

4) build

Correct Answer: build
Candidate Answer: surfeit

QID : 371 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Swelled head

Options:

1) Tired

2) Timid

3) Dreamer

4) Pride

Correct Answer: Pride
Candidate Answer: Pride

QID : 372 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

To sow the dragon's teeth
Options:

1) To disturb the work

2) To suspect something foul
3) To take some action

4) To act foolishly

Correct Answer: To take some action
Candidate Answer: To act foolishly



QID : 373 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Get around

Options:

1) Persuade

2) Recall

3) Exclude

4) Avoid

Correct Answer: Avoid
Candidate Answer: Recall

QID : 374 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

To cudgel one's brains

Options:

1) To think hard

2) To kill by shooting in the head
3) To manipulate

4) To oppose someone

Correct Answer: To think hard
Candidate Answer: To kill by shooting in the head

QID : 375 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Broke Priscian’'s head
Options:

1) To use bad grammar
2) To quarrel

3) To hurt with grief

4) To put an end to

Correct Answer: To use bad grammar
Candidate Answer: To quarrel

QID : 376 - Improve the bracketed part of the sentence.

(No sooner | saw) the lizard than | ran away.
Options:

1) As soon as | saw

2) No sooner | had seen

3) No sooner did | see

4) no improvement

Correct Answer: No sooner did | see
Candidate Answer: No sooner did | see

QID : 377 - Improve the bracketed part of the sentence.

Rohit (did many mischiefs).
Options:

1) committed many mischiefs
2) made many a mischiefs

3) made much mischiefs

4) no improvement

Correct Answer: committed many mischiefs
Candidate Answer: committed many mischiefs

QID : 378 - Improve the bracketed part of the sentence.

The police (broke away)the concert as it turned violent.
Options:

1) broke through

2) broke up

3) broke off

4) no improvement

Correct Answer: broke up

Candidate Answer: broke off

QID : 379 - Improve the bracketed part of the sentence.

Reena cannot (put forth)with her nasty fellow.
Options:

1) putin

2) put out

3) put up

4) no improvement

Correct Answer: put up



Candidate Answer: put up

QID : 380 - Improve the bracketed part of the sentence.

The kid jumped with delight on seeing the (joker) at the circus.
Options:

1) dud

2) ruffian

3) clown

4) no improvement

Correct Answer: clown
Candidate Answer: ruffian

QID : 381 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

To move along with quick, short twistings
Options:

1) limp

2) stroll

3) wriggle

4) stride

Correct Answer: wriggle

Candidate Answer: stroll

QID : 382 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

Put off for a future time
Options:

1) codify

2) reticent

3) procrastinate

4) retaliate

Correct Answer: procrastinate
Candidate Answer: procrastinate

QID : 383 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

Greedy for money
Options:

1) agnostic

2) rapacious

3) oblation

4) celibacy

Correct Answer: rapacious
Candidate Answer: oblation

QID : 384 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

Speak in a very low tone
Options:

1) whisper

2) murmur

3) bass

4) baritone

Correct Answer: whisper
Candidate Answer: whisper

QID : 385 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

Search for something
Options:

1) chum

2) hurl

3) solemnize

4) quest

Correct Answer: quest

Candidate Answer: quest

QID : 386 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) appreciation

2) appropriate

3) apearance

4) assassination

Correct Answer: apearance



Candidate Answer: apearance

QID : 387 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) coalition

2) cofficient

3) classification

4) christmas

Correct Answer: cofficient

Candidate Answer: cofficient

QID : 388 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) convenience

2) customary

3) coveteus

4) counselor

Correct Answer: coveteus
Candidate Answer: counselor

QID : 389 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) leneint

2) leisure

3) liquefier

4) lieutenant

Correct Answer: leneint

Candidate Answer: leneint

QID : 390 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) subsequence

2) secretariate

3) superstitious

4) superintendent

Correct Answer: secretariate

Candidate Answer: secretariate

QID : 391 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

One's mental attitude plays a very role in one's life and . One's attitude must be healthy, active and reasonably . One must begin the day with a happy,
energetic and resolution with a firm ___ in God's moral order and divine justice. This attitude will change the entire complexion of life and make one more
active, assertive and successful.

One's mental attitude plays a very role
Options:

1) negligible

2) disgusting

3) important

4) mere

Correct Answer: important

Candidate Answer: important

QID : 392 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

One's mental attitude plays a very role in one's life and . One's attitude must be healthy, active and reasonably . One must begin the day with a happy,
energetic and resolution with a firm in God's moral order and divine justice. This attitude will change the entire complexion of life and make one more
active, assertive and successful.

in one's life and .
Options:

1) others

2) dreams

3) attitude

4) career

Correct Answer: career

Candidate Answer: career



QID : 393 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

One's mental attitude plays a very role in one's life and . One's attitude must be healthy, active and reasonably . One must begin the day with a happy,
energetic and resolution with a firm in God's moral order and divine justice. This attitude will change the entire complexion of life and make one more
active, assertive and successful.

One's attitude must be healthy, active and reasonably .
Options:

1) optimistic

2) pessimistic

3) balanced

4) challenging

Correct Answer: optimistic

Candidate Answer: optimistic

QID : 394 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

One's mental attitude plays a very role in one's life and . One's attitude must be healthy, active and reasonably . One must begin the day with a happy,
energetic and resolution with a firm in God's moral order and divine justice. This attitude will change the entire complexion of life and make one more
active, assertive and successful.

day with a happy, energetic and _____ resolution
Options:

1) mere

2) large

3) hopeful

4) significant

Correct Answer: hopeful

Candidate Answer: hopeful

QID : 395 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

One's mental attitude plays a very role in one's life and . One's attitude must be healthy, active and reasonably . One must begin the day with a happy,
energetic and resolution with a firm in God's moral order and divine justice. This attitude will change the entire complexion of life and make one more
active, assertive and successful.

with a firm
Options:
1) resolution

2) decision

3) faith

4) idea

Correct Answer: faith
Candidate Answer: faith

in God's moral order and divine justice.

QID : 396 - A passage is given with five questions following it. Read the passage carefully and select the best answer to each question out of the given four
alternatives.

The Ganges is one of the largest rivers in Asia. It rises in the Himalaya Mountains and flows over 2,500 km through India and Bangladesh into the Bay of Bengal.
However, the Ganges, India's holy river, is also one of the most polluted in the world. The Ganges River basin has a size of over 1 million square km. It lies in one of
the most populous regions on earth. About 500 million people, half of India's overall population, live in the Ganges river plains.

There are many causes of Ganges river pollution. About 2 million Hindus bathe in the river every day. During religious ceremonies, up to a hundred million people
clean their sins away in the Ganges River. They believe that bathing in the river will make them pure. In addition, thousands of bodies are cremated near the river,
especially around the holy city, Varanasi. The ashes are often released into Ganges.

The Ganges also provides water for farming land, which is increasing at a tremendous rate. Irrigation projects cause water levels to go down along the river. More
and more dams are being erected along India's holy river, mainly to produce energy for Delhi and other large cities in the area.

The river flows through 30 cities with a population of over 100,000 each. Every day, 3 billion litres of untreated water from these big cities pass into the Ganges River,
along with remains of animals.

Because of India's lax environmental regulations, industries along the river release chemicals and other poisonous material into the Ganges. In some places they are
a thousand times over the allowed limit. Especially India's traditional leather industry needs great amounts of water. In addition, fertilizers from the fields find their
way into the ground water, and ultimately flow into the river. Altogether, the amount of industrial pollution has doubled in the past 20 years.

This widespread pollution of the Ganges River has also led to major health problems. Many diseases are common, including cholera, hepatitis and diarrhea.

While India's population keeps growing, more and more people are leaving the countryside and moving to big cities along the Ganges. As a result, the river will not be
able to cope with even more people.

Life in the river is also at risk. Recent reports have shown that there is a high level of mercury in some fish. The construction of dams is destroying forests and
vegetation, killing off many animal and plants.

Indian authorities are fighting an upward battle towards cleaning up the Ganges River. International organizations have offered help. The World Bank has agreed to
give India a loan of up to a billion dollars to clean up the Ganges River.

From which of the following neighbouring countries, The Ganga flow through India into Bay of Bengal?
Options:

1) China

2) Bhutan

3) Bangladesh

4) Sri Lanka

Correct Answer: Bangladesh

Candidate Answer: Bangladesh



QID : 397 - A passage is given with five questions following it. Read the passage carefully and select the best answer to each question out of the given four
alternatives.

The Ganges is one of the largest rivers in Asia. It rises in the Himalaya Mountains and flows over 2,500 km through India and Bangladesh into the Bay of Bengal.
However, the Ganges, India's holy river, is also one of the most polluted in the world. The Ganges River basin has a size of over 1 million square km. It lies in one of
the most populous regions on earth. About 500 million people, half of India's overall population, live in the Ganges river plains.

There are many causes of Ganges river pollution. About 2 million Hindus bathe in the river every day. During religious ceremonies, up to a hundred million people
clean their sins away in the Ganges River. They believe that bathing in the river will make them pure. In addition, thousands of bodies are cremated near the river,
especially around the holy city, Varanasi. The ashes are often released into Ganges.

The Ganges also provides water for farming land, which is increasing at a tremendous rate. Irrigation projects cause water levels to go down along the river. More
and more dams are being erected along India's holy river, mainly to produce energy for Delhi and other large cities in the area.

The river flows through 30 cities with a population of over 100,000 each. Every day, 3 billion litres of untreated water from these big cities pass into the Ganges River,
along with remains of animals.

Because of India's lax environmental regulations, industries along the river release chemicals and other poisonous material into the Ganges. In some places they are
a thousand times over the allowed limit. Especially India's traditional leather industry needs great amounts of water. In addition, fertilizers from the fields find their
way into the ground water, and ultimately flow into the river. Altogether, the amount of industrial pollution has doubled in the past 20 years.

This widespread pollution of the Ganges River has also led to major health problems. Many diseases are common, including cholera, hepatitis and diarrhea.

While India's population keeps growing, more and more people are leaving the countryside and moving to big cities along the Ganges. As a result, the river will not be
able to cope with even more people.

Life in the river is also at risk. Recent reports have shown that there is a high level of mercury in some fish. The construction of dams is destroying forests and
vegetation, killing off many animal and plants.

Indian authorities are fighting an upward battle towards cleaning up the Ganges River. International organizations have offered help. The World Bank has agreed to
give India a loan of up to a billion dollars to clean up the Ganges River.

How many people (in million) clean their sins away in the Ganga River?
Options:

12

2) 100

3) 500

4) 750

Correct Answer: 100

Candidate Answer: 100

QID : 398 - A passage is given with five questions following it. Read the passage carefully and select the best answer to each question out of the given four
alternatives.

The Ganges is one of the largest rivers in Asia. It rises in the Himalaya Mountains and flows over 2,500 km through India and Bangladesh into the Bay of Bengal.
However, the Ganges, India's holy river, is also one of the most polluted in the world. The Ganges River basin has a size of over 1 million square km. It lies in one of
the most populous regions on earth. About 500 million people, half of India's overall population, live in the Ganges river plains.

There are many causes of Ganges river pollution. About 2 million Hindus bathe in the river every day. During religious ceremonies, up to a hundred million people
clean their sins away in the Ganges River. They believe that bathing in the river will make them pure. In addition, thousands of bodies are cremated near the river,
especially around the holy city, Varanasi. The ashes are often released into Ganges.

The Ganges also provides water for farming land, which is increasing at a tremendous rate. Irrigation projects cause water levels to go down along the river. More
and more dams are being erected along India's holy river, mainly to produce energy for Delhi and other large cities in the area.

The river flows through 30 cities with a population of over 100,000 each. Every day, 3 billion litres of untreated water from these big cities pass into the Ganges River,
along with remains of animals.

Because of India's lax environmental regulations, industries along the river release chemicals and other poisonous material into the Ganges. In some places they are
a thousand times over the allowed limit. Especially India's traditional leather industry needs great amounts of water. In addition, fertilizers from the fields find their
way into the ground water, and ultimately flow into the river. Altogether, the amount of industrial pollution has doubled in the past 20 years.

This widespread pollution of the Ganges River has also led to major health problems. Many diseases are common, including cholera, hepatitis and diarrhea.

While India's population keeps growing, more and more people are leaving the countryside and moving to big cities along the Ganges. As a result, the river will not be
able to cope with even more people.

Life in the river is also at risk. Recent reports have shown that there is a high level of mercury in some fish. The construction of dams is destroying forests and
vegetation, killing off many animal and plants.

Indian authorities are fighting an upward battle towards cleaning up the Ganges River. International organizations have offered help. The World Bank has agreed to
give India a loan of up to a billion dollars to clean up the Ganges River.

According to the passage, which disease is not common due to the widespread pollution of the Ganga River?
Options:

1) Influenza

2) Diarrhoea

3) Hepatitis

4) Cholera

Correct Answer: Influenza

Candidate Answer: Influenza



QID : 399 - A passage is given with five questions following it. Read the passage carefully and select the best answer to each question out of the given four
alternatives.

The Ganges is one of the largest rivers in Asia. It rises in the Himalaya Mountains and flows over 2,500 km through India and Bangladesh into the Bay of Bengal.
However, the Ganges, India's holy river, is also one of the most polluted in the world. The Ganges River basin has a size of over 1 million square km. It lies in one of
the most populous regions on earth. About 500 million people, half of India's overall population, live in the Ganges river plains.

There are many causes of Ganges river pollution. About 2 million Hindus bathe in the river every day. During religious ceremonies, up to a hundred million people
clean their sins away in the Ganges River. They believe that bathing in the river will make them pure. In addition, thousands of bodies are cremated near the river,
especially around the holy city, Varanasi. The ashes are often released into Ganges.

The Ganges also provides water for farming land, which is increasing at a tremendous rate. Irrigation projects cause water levels to go down along the river. More
and more dams are being erected along India's holy river, mainly to produce energy for Delhi and other large cities in the area.

The river flows through 30 cities with a population of over 100,000 each. Every day, 3 billion litres of untreated water from these big cities pass into the Ganges River,
along with remains of animals.

Because of India's lax environmental regulations, industries along the river release chemicals and other poisonous material into the Ganges. In some places they are
a thousand times over the allowed limit. Especially India's traditional leather industry needs great amounts of water. In addition, fertilizers from the fields find their
way into the ground water, and ultimately flow into the river. Altogether, the amount of industrial pollution has doubled in the past 20 years.

This widespread pollution of the Ganges River has also led to major health problems. Many diseases are common, including cholera, hepatitis and diarrhea.

While India's population keeps growing, more and more people are leaving the countryside and moving to big cities along the Ganges. As a result, the river will not be
able to cope with even more people.

Life in the river is also at risk. Recent reports have shown that there is a high level of mercury in some fish. The construction of dams is destroying forests and
vegetation, killing off many animal and plants.

Indian authorities are fighting an upward battle towards cleaning up the Ganges River. International organizations have offered help. The World Bank has agreed to
give India a loan of up to a billion dollars to clean up the Ganges River.

According to the passage, which industry in India needs great amount of water?
Options:

1) lock

2) dyeing

3) cloth

4) leather

Correct Answer: leather
Candidate Answer: leather

QID : 400 - A passage is given with five questions following it. Read the passage carefully and select the best answer to each question out of the given four
alternatives.

The Ganges is one of the largest rivers in Asia. It rises in the Himalaya Mountains and flows over 2,500 km through India and Bangladesh into the Bay of Bengal.
However, the Ganges, India's holy river, is also one of the most polluted in the world. The Ganges River basin has a size of over 1 million square km. It lies in one of
the most populous regions on earth. About 500 million people, half of India's overall population, live in the Ganges river plains.

There are many causes of Ganges river pollution. About 2 million Hindus bathe in the river every day. During religious ceremonies, up to a hundred million people
clean their sins away in the Ganges River. They believe that bathing in the river will make them pure. In addition, thousands of bodies are cremated near the river,
especially around the holy city, Varanasi. The ashes are often released into Ganges.

The Ganges also provides water for farming land, which is increasing at a tremendous rate. Irrigation projects cause water levels to go down along the river. More
and more dams are being erected along India's holy river, mainly to produce energy for Delhi and other large cities in the area.

The river flows through 30 cities with a population of over 100,000 each. Every day, 3 billion litres of untreated water from these big cities pass into the Ganges River,
along with remains of animals.

Because of India's lax environmental regulations, industries along the river release chemicals and other poisonous material into the Ganges. In some places they are
a thousand times over the allowed limit. Especially India's traditional leather industry needs great amounts of water. In addition, fertilizers from the fields find their
way into the ground water, and ultimately flow into the river. Altogether, the amount of industrial pollution has doubled in the past 20 years.

This widespread pollution of the Ganges River has also led to major health problems. Many diseases are common, including cholera, hepatitis and diarrhea.

While India's population keeps growing, more and more people are leaving the countryside and moving to big cities along the Ganges. As a result, the river will not be
able to cope with even more people.

Life in the river is also at risk. Recent reports have shown that there is a high level of mercury in some fish. The construction of dams is destroying forests and
vegetation, killing off many animal and plants.

Indian authorities are fighting an upward battle towards cleaning up the Ganges River. International organizations have offered help. The World Bank has agreed to
give India a loan of up to a billion dollars to clean up the Ganges River.

Which International organization has agreed to give India a loan of a billion dollar to clean up the Ganga River?
Options:

1) The World Bank

2) IMF

3) ADB

4) IDA

Correct Answer: The World Bank

Candidate Answer: The World Bank



